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KURS
GEOMETRIA ANALITYCZNA

Lekcja 2
Dziatania na wektorach w ukfadzie
wspotrzednych.

ROZWIAZANIE ZADANIA DOMOWEGO
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Czedé 1: TEST

Pytanie 1:
Pytanie 2:
Pytanie 3:
Pytanie 4:
Pytanie 5:
Pytanie 6:
Pytanie 7:
Pytanie 8:
Pytanie 9:

Pytanie 10: b
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Czesc¢ 2: ZADANIA

Zad.1l

a)

b) AB =[4,1,1]

. AB =[0,5,-4]

d)
Zad. 2

a) B(8, 4,7)

b) B(-4, 2, 3)
c) B(5, -4, -10)
d) B(-9, 2, 0)
Zad.3

a) A8, 4, 2)

b) A(-4, -5, 1)
c)A(-1, 2, -3)

d) A(-4, 8, -4)

AB =[-2,0,4]

AB =[-14,-11,11]
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Zad.4
a)3

b) 5
c) 3‘/§
Zad.5

V193

Zad.6
V126 3.2

Zad.7

a=1, b=5

Zad.8
x=[-0,6;-0,8;0]

Zad.9

[&

_A2 _ﬁ]
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Zad.10
a)7

b) -47
c)-7

Zad.11

w|y

45,6)=L

b) cos
238

—
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Zad.12
cos(éﬁ,ﬁ) :21—“2?
Zad.13
2 17 4

cos(£BAC) = NS cos(£ABC) = Nk cos(ZACB) = T
Zad.14

9
a=——

14
Zad.15

Tak, ten czworokat jest kwadratem.
Zad.16

- 5
=——[4,-4,7
dp 81[ ]

Zad.17

5 [6.0.2]

)0 -3-3]

[0.:0.0]

o)[-8:0.-8]
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Zad.18

2)[20.4.-4]

)[20.4,-4]

o[40.-8.8]

d)[-28,16, -124]

Zad.19

V594

Zad.20

Zad.22

[L45 20 VB [E 35 _ ]
35735 17 J|ypl3m T T 7

Zad.24

2

3
Zad.25
12

Zad.26

V=14 H =414
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